U 0T TR T 00
RP-001-001573 Seat No.

Time : 2% Hours] [Total Marks :
1 [duRs dsiReld sidas uee 5.
uYql
1 AL Ses 1) : (Q)
@D (P-q@)O~Cpv~q)
@ (~pvg)D(pDq)
3 ~[(pvg) >~ (~ p-~q)]
2 Alel VA AYSd [ ugeid aHAndl.
uYql
2 Al eeldl uinnl FHusHlel sl
@ 1. KVT G 1. R
2. ~T 2. ROT
3. KOR 3. @gDOS
4. ROS/.- S 4 ~T /.. 8
3 [BUIMuRs dfwetdl Halell weudl [RAYUs dSiatdl 2aeasdl
AHANAL.
u2ql
3 Al eclldl C.P. (ardl Alidl) 4 LP. (ude alidl) -l

B. A. (Sem. V) (CBCS) Examination
February - 2019
Philosophy : Paperl2
(Intro. to Symbolic Logic)

Faculty Code : 001
Subject Code : 001573

Ml sl -
(1) CP.1. (BVA)D(E-D)
2. (DVC)D F/ .. BVF
@2 LP. 1. (4VB)>(C >~ D)
2. (DVE)D(4-C)/ ..~ D.

70

14

14

14

14

14

14

RP-001-001573 ] 1 [ Contd...



[E1uRs dsaiatndl sdaxi edladl sumRieiddin [ola

Y4l
(AL vl @euL Yoy Myl MR :

Q) (PO0)-(ROS)/..(P-R)>(QVS)
2 PDQ

3 ~PVo

4) (~ PVOVS

G) ~ PV(QVS)

®) [~PUQVS)V ~R
() ~RV[~PV(QVS)]
8 (~ RV ~ PV (QVS)
©)  (~ PV ~RV(QVS)
(10) ~(P- RV (QVS)
(11) (P-R)> (OVS)

lAxigl 68 [ qull :

(A) axqasl aA{dled-l ¢id@AY [od 1A,
(B) A= 2 [ Rl

(C) EI a1 EG.-l Myl 3o,

(D) M.P. 1 De.M.q $u- = $3U.

ENGLISH VERSION

¥HAAl.

14

14

14

Clarify the scope of propositional logic. 14
OR
Form truth table : (any two) 14
@ (p-9)>~(~pv~q)
@ (~pvg)D(pDq)
@) ~[(pvg) >~ (~ p-~q)]
Explain with example simple and compound propositions. 14
OR
Verify the following arguments through the Rules of 14
Inference :
o 1 Kyr a 1. R
2. ~T 2. ROT
3. KOR 3. 0OS
4. RDODS/..S 4. ~T /.. S
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3 State the limitations of propositional logic and explain

the necessity of predicate logic.

OR
3 Verify the following arguments with the rules of C.P.
and LP. :
1) CP.1. (BVA)YD(E-D)

@)

(DVC)> F/ . BVF

2.
ILP. 1. (4VB)>(C >~ D)
2.

(DVE)> (A-C)/ -~ D.

4 Explain with detail the invalidity of the argument in the

scope of propositional logic.

OR

4 Fill up the blanks with proper rules :

@D
@)
®3)
4)
(®)
©)
()
®)
©)

(PDODO)-(RDS)/..(P-R)D(QVS)
PDO

~PVQ

(~ PVO)VS

~ PV(QVS)

[~ PU@QVS)V ~R

~ RV[~ PV (QVS)]

(~ RV ~ PV (QVS)

(~ PV ~ R)V(QVS)

10) ~(P-RV(QVS)
(11) (P-R)>D(QVS)

5 Write notes about any two :
(A) Explain with detail the paradox of material implication.

(B) General and particular propositions.
(C) Explain the rules of EI and EG.
(D) Statement of M.P. and De.M.
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